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o PV AT I T [ I % 37 FIT-09 § JRT § 16 T J97 40 &7
Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o TXETER STl T To FeT-UH YT a9 ford)
Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 [U T 7el 8, YT F YU 39
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ geT et &

All questions are compulsory.
(i) 797 FTHE 1 7 40 7% FGTT Fo7 &1 FAH T 1 5% F &

Questions from 1 to 40 are objective type questions. Each question is of 1
mark.
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(2) 5631/(Set :
1. §=+g RS qrcias deell R IRANT & &1 R = {(a, b), a< b}, 98 ® :

(A) T (B) @HfE
(C) HebTHH (D) T & g T
The relation R defined real numbers R, R = {(a, b), a< b} is :
(A) Reflexive (B) Symmetric
(C) Transitive (D) None of these
2. IR’ f: R— R, fi) = 3x ¥ UG 8, af 7= & & &l g :
(A) f THH AN TBRE (B) f Sga@ oM oTeTE®
(C) f Tl W ABEH el (D) f TEU@H W SABEH Tef
Let fix) = 3x where f: R — R, choose the correct answer :

(A) f is one-one onto (B) f is many one-onto

(C) f is one-one into (D) f is many one-into

3. tan—l(—ij P & 9 B

J3
T T
(A) 5 (B) B
T T
(€C) 3 (D) -3
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(3) 5631/(Set : C)

The principal value of tan_l(— %j is :
(A) % (B) —%
© 3 D) -3
4 sinlx HFITHAAR : 1
(A) —gg} B) [0,
(©) o g} (D) (0, )

The principal value of sin"!x is:

n oz
) _—5,5} ®) [0, 7]
©) og} D) (0,7
5. fEoTmar @fkar « St ZW IR & IR a*b=a-bEA WA &, W ® : 1
(A)  HHENET
(B) ded

(C) wufatmAg X dead
(D) ¥ sHHfaET T Al
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(4) 5631/(Set : C)
Binary relation * define on Z and given by a* b =a—- bis:
(A) Commutative
(B) Associative
(C) Both Commutative & Associative

(D) Neither Commutative nor Associative

6. 3 x3FHC & AHE B HA G Pl Tafe &aq 0d 18, 9 & ¢ 1
(A) S12 (B) 18
(C) 64 (D) & & #E Te
The number of matrices of order 3 x 3 that can be formed by using the digit O
orlis:
(A) S12 (B) 18
(C) o4 (D) None of these

7. IR’ A AR B U NS B, A 7 H | -9 TGS GG © 7 1
(A) (AB)=AB’ (B) (AB)=AB
(C) (AB) =BA (D) TTH ® iz Tl
If A and B are two symmetric matrices, then which of the following is always
true?
(A) (AB)Y=A'B’ (B) (AB)=AB
(C) (AB)=BA (D) None of these
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(5) 5631/(Set : C)
8. IR fagatt (-2, 0), (0, 4) R (k, 0) Th 4 &l a1t BIYSA & MY &, A kB AT & 1

A) 2

(B) 4

(C) 0T -4

(D) & § PI§ T

If area of triangle with vertices (-2, 0), (0, 4) and (k, O) is 4 units, then the

value of k are :

A) 2
(B) 4
(C) Oor -4

(D) None of these

kx+1 , x<5

,x=5T dad g, : 1
3x-5 , x>5 x T

9. k3 N9 qM & T ®e f(x):{

A) 3 (B) -5
9 11
(C) = (D) =
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(6) 5631/(Set : C)

. . kx+1 , x<5 |, .
The value of k for which the function f(x)= is continuous at
3x-5 , x>5
x=351is:
(A) 3 (B) -5
9 11

C) = D) —

© < D) =
10. 7R} f(x)=cos(logx+eX), @ f(x) ¥ : 1

(A) -sin(log x+e”)

(1 &
(B) —s1n(—+e j
x

(C) -sin(log x +e%) (% + exj

(D) FH & & Tl

If f(x)=cos(logx+e”), then f'(x) is:

(A) —sin(log x +e”)
B) - sin(l + exj
X

(C) —sin(logx+ex)(l+exj
x
(D) None of these
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(7) 5631/(Set : C)
11. o gq & B 0.7 m/sec § Tl ¢ qf I URMY & do Hl T §HvS & o9 Brewr

2 cm %, TR 1
(A) 1.4 mcm/sec (B) 2 mcm/sec
(C) 2.8 mcm/sec (D) T q B Tl

The radius of circle changes at the rate 0.7 m/sec. Then the rate of change of

perimeter of circle per second at r= 2 is :

(A) 1.4 mcm/sec (B) 2 mcm/sec
.8 T cm/sec one of these
(C) 2.8 / (D) N f th
-1
12. (180 X4 quee d 1
1+ x
(A) ﬁ +c (B) %(ta\n_1 x)2 +c
b
(C) (tan"'x)?+c (D) TTH | Hiz Tl
-1
J-tan 2x dx is equal to :
1+ x
(A) ﬁ +C (B) %(tan_l )C)2 +C
X
(©) (tem_1 x)2 +c (D) None of these
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(8) 5631/(Set : C)

13. jxcosxdx T B 1
(A) xsin x+ cos x+c
(B) xsinx-cosx+c
(©) X sinx+c
2

(D) —xsinx—-cosx+c
J.xcosxdx is equal to :
(A) xsin x+ cos x+c

(B) xsinx-cosx+c

(@) X sinx+e
2

(D) —xsinx—-cosx+c
14. g% y=x2, x-378 & x =2 R R &7 & §%a 2 ¢ 1
8
A) 4 (B) 3
2
€ 2 (D) 3
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(9) 5631/(Set : C)

The area of the region bounded by y = x2, x-axis and x = 2 is :

8
A) 4 (B) 3
2
€ 2 (D) 3
a%y)  .d
15. ofaeha THH 2x2(—gJ +3H yy=0 Hum & : 1
dx dx
A) 2 (B) 3
(©) 5 (D) & ¥ g T
. . . Q[de} dy .
The degree of the differential equation 2x — | * 3—~=+y=0 is:
dx dx
A 2 B) 3
) 5 (D) None of these
16. IR} P(E)= 0.3, PF) = 0.6, X PEN F)=0.2, @ P(E/F) ® : 1
1 2
A = (B) 3
1 7
(©) 3 (D) 10
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(10) 5631/(Set : C)

If PE)=0.3, PIF) = 0.6 and PIENn F) = 0.2, then P(E/F) is :

1 2

A) - (B) 3

1 7

(C) 3 (D) T
17. A o I b A L GRA T, & 7T § q P9-1 639 qFE ? 1

A) a+b T THE GRY D

B) aXb U THE GRY D

(C) |dXb| d, b Yonal ari Byl 1 St

D) |aXDb | Pl @ R b o GHieR =qeer H1 S

If Z and E) are unit vectors, then which of the following is always true ?

e .
(A) a+ b isaunit vector

—> ., . .
(B) a X b is a unit vector
(o) axb |is area of triangle with sides a and b

D) | aXb | is area of parallelogram with sides a and b
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(11) 5631/(Set : C)
18. TH WM x, y 3R z-9& & HAM: 90°, 135° 3R 45° & FIT G 2, A 3T 3@ & f

HIEE ¢ 1
(D) T & Hig T

If a line makes angle 90°, 135° and 45° with x, y and z-axis, its direction

cosines are :

1 1
® en
1 1
B 055
1 1
© -5 5

(D) None of these
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(12) 5631/(Set : C)

19. tan_11+cos_1(—%j T B 1
T 7T
A —— B =
(A) 12 (B) 12
11x 51
C) — D) —
(C) 12 (D) 12

tan' 1+ cos_l(— %) is equal to :

T 7T
(A) 12 (B) 12
11x 51
(©) ED) (D) 12
20. ot =sec o, ) 1
\/x2—1
21. A1 % f: R— R, f(x)=x" 30 o &, @ f @ : 1
(A) ThH AR WS (B) @& T B8RS el
(C) TgUH IR SABEH (D) SR W ABIEH Tl

Let f: R— Rdefined by f(x):x4, then fis :

(A) one-one onto (B) one-one into

(C) many-one onto (D) many-one into
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22.

23.

24.

25.

26.

27.

28.

(13) 5631/(Set : C)
I A T T e 3 Fiic F & AR ITH RO |A| =4, @ |AG Al = ooeeennn |1

If Ais square matrix of order 3 with |A| =4, then |Adj A| = «cvvvennnnn.

(AB) l=........ 1
R y=x*, Yo 1
If y=x", then WY
dx
- s . dy
23@')6—20039—00326,y—251n6—sm29,5ﬁ — = .. | 1
_ A . dy
If x =2 cos 6 — cos 20, y =2sin 0 — sin 20, then T
[ dx = 1
1+cosx
[ 1
(x+1)(x+2)

TH STl A UGl B 4 G BN AT &1 G G SR FfEw BT (VAN HE o) o
HEE &, A 2 Bl Bl SEH & ......... | 1

A pair of fair dice is thrown 4 times. Getting a doublet is a success. The

probability of getting 2 success is ............... .
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(14) 5631/(Set :

29. UH @Y § o g BN &l 9 [ty

Write the condition for a relation to be an equivalence relation.

30. 3R WA «, N W axb=a’+b* & &I F UG &, F& I G
(A) |Eed T HEEE
(B) AT AT dresd el
(C) s i HAlaHE el
(D) "=l T FHeEg

If operation » on N defined as a« b = a’? +b? , choose the correct answer :

(A) Associative and Commutative
(B) Commutative but not Associative
(C) Associative but not Commutative

(D) Neither Associative nor Commutative

x 6

6 -3
31. = , W x F AW R :
8 2x 8 4
(A) 6 B) 2
(C) O (D) T @ Fig T
6| |6 -3
If x = , then the value of x is :
8 2x 8 4
(A) 6 (B) 2
C) O (D) None of these
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(15) 5631/(Set : C)

32. 7R x%+3xy+y% =100, & Y = Fifm 1
If x3+3xy+y> =100, find == .
dx

33. T y=(x-2)° W Te g 7 FIfT, &7 wRar -1 F ol 2 1

Find the point on the curve y =(x— 2)2 , where tangent is parallel to x-axis.

34. 99 G FivT - ’
/2
J'sin3 x dx
-m/2
Evaluate :
/2
J.sm3 x dx
-n/2
35. HM Fq FivT - ’
1
f dx
0 1-x2
Evaluate :
1
f dx
0 1-x2
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36.

37.

38.

39.

40.

(16) 5631/(Set : C)

FWh y=sin x, 3, x=0, x=7 9 R A FH &G A B

Find the area bounded by the curve y = sin x, x-axis and the line x =0, x =m.

2
GWWW@:H—yQ & AYEH B 5T DI
dx 1+x

dy _1+y*

Find the general solution of the differential equation 5

1+x

A 3R B3R @ e €, o g6 3 91 © 7

What is the condition that events A and B are independent ?

HRA @ =3i - j-2k N GRA b =2i 3] +k T Y& A HivTT
. . . — T A ~ - < 4 o
Find the projection of a =3i — j—2k on the vector b =2i -3j+k.
- -
M |a=V3,|bE2 AR d.6=3, @ d X b & <" & Ho7 51 BT

- -
If|al= V3, | b|=2 and a.b= 3, then find angle between a and b.
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